	Number Talks - 2nd Level 
(Teacher Information)

Division (4 different strategies)
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Dividend ÷ Divisor = Quotient


	Multiply instead

17 ÷ 3  
3 x  5 is 15, with 2 left over
Therefore 5 remainder 2                                   



	Chunk Out 
86 ÷ 20
 
86 = 80 + 6
20 x 4 is  80 
4 left 
Answer 4 remainder 6   


	Make  Tower
211 ÷ 7                                                  529 ÷ 17            Answer     31  
7 x 30 = 210                                          17 x 30 = 510              17  529    
One left                                                 17 x   3  =   51                  - 510    
Answer 30 remainder 1                     17 x   2  =   34                      19  
                                                                17 x   1  =   17                    - 17           
                                                                                     2

	Halving and Halving
104 ÷ 4
52 ÷ 2
= 26




